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QUESTION 1

An architect is responsible for designing a new Operations Management solution for a customer. The customer has
provided the following high-level information about their existing VMware Software Defined Data Center (SDDC)
environment: 

The existing environment is located within a single geographical region. 

The customer already has deployed a vSphere-based virtualization solution that spans two well-connected 

physical locations. 

The customer has recently upgraded all of their licenses to VMware vCloud Suite Advanced subscription. 

The customer has already successfully deployed and configured vRealize Operations 8.x within the 

VMware SDDC. 

The customer would like to ensure that both specific event monitoring data and operations monitoring for 

all of the VMware SDDC can be consolidated into a single user interface. 

Which three recommendations should the architect make to meet the requirements? (Choose three.) 

A. Configure vSphere integration in vRealize Log Insight 8.x 

B. Configure vRealize Operations 8.x and vRealize Log Insight 8.x integration 

C. Deploy vRealize Log Insight 8.x 

D. Configure vRealize Operations 8.x and vRealize Log Insight Cloud integration 

E. Deploy vRealize Log Insight Cloud 

F. Configure vRealize Operations 8.x and vRealize Operations Cloud Federation 

Correct Answer: BDF 

 

QUESTION 2

An architect is designing a greenfield VMware vRealize Cloud Management solution. During the requirements gathering
workshop with the customer, the future Service Owner made the following comment: The Maximum Tolerable Downtime
(MTD) for the Cloud Management solution is 1 hour. 

When creating the design documentation, which design quality should be used to classify the requirements? 

A. Manageability 

B. Availability 

C. Recoverability 

D. Performance 
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Correct Answer: C 

 

QUESTION 3

An architect is responsible for creating the design for vRealize Operations. The following requirements, constraints, and
recommendations were gathered: 

Enable Continuous Availability Monitor two physical locations The sizing guide recommends deploying 5 analytics
nodes 

What are two design considerations for the analytics node deployment? (Choose two.) 

A. High Availability will need to be enabled 

B. Extra Large Nodes must be used 

C. Two fault domains need to be created 

D. A sixth analytics node is needed 

E. Anti-affinity rules will need to be created 

Correct Answer: BC 

 

QUESTION 4

Consider the following requirements to be used in determining a vRealize Operations licensing model: 

Authentication provided by Single Sign On Performance monitoring and analytics for 12 Hosts and 1 vCenter vSphere
security and compliance monitoring for PCI and HIPAA Guided remediation for discovered issues Customizable
dashboards, reports and views 

Using the requirements, what is the minimum license that can be used for this deployment of vRealize Operations? 

A. vRealize Cloud Universal Enterprise 

B. Advanced 

C. Standard 

D. Enterprise 

Correct Answer: B 

 

QUESTION 5

A financial business wants to reduce the time-to-market by automating the end-to-end testing of a prime service
application and releasing it with minimal user intervention. 

Which service in vRealize Automation will allow the business to achieve the requirement? 
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A. Cloud Assembly 

B. Code Stream 

C. Service Broker 

D. Orchestrator 

Correct Answer: B 
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